2020-2021 U125R81biEERF—R(11/108]7E)
WS DR IE R T (T (E, BERICIRILIE R ORBABYET .,
LR EMREIDRF T MEEDRILIEESVY (SA-B) LERENENE LRZI5E (X, SBEREFTHL. Hil-H509ERRLTVET,
AREEOEERBREREDOEYVITYTIE, 11ASBBREDEHT —2EHITITVEL . £EHIZFIZALSTRHYET DT
F—EAMLRNTNBy—REHYET ., TORIE, ERFEORREBO ANEHTI) —EYERICA—IL TSNS EEEL,
TH.REFEOM, BEOKRER M- L—BELT R L =& UYL R A TS,
LIS EAEE R EROBRL. UI21CRY11 B28B £ TELRYET,

No. K% & % | %45 #EH ik |5V k=
1%#& B Bloom PJT B| 5 |100 13.99%| B
258 =& Bloom PJT %| 6 [100 13.88%| A [s&{cigTEMESE. A(B0H:13.63)
RGN+ Bloom PJT %Z| 6 [100 1414%] B
ABO DE EVO T.C Z| 5 [1000 3.26.40%| B
5//hFk FIZE KJM. RC B| 6 |1000 A s&ibis TR
6| FRE A KJM. RC Bl 6 [1000 B & tisTEHESE
18 BT KJM. RC %| 6 [1000 A |ER1EIETEMEST
8|HiME ERL RUN. jp Bl 6 [100 B [B&{bisE ks
9Ifik Bt RUN. jp 8| 6 |HJ 1.38%] A
1051 BX RUN. jp %| 6 [100 1358%| A
NS RUN. jp | 6 [100 1410%| B |5&{biEEMEE
12|Ba[@ Fi/y RUN. jp 2| 6 [1000 312.11%] A
13/ XRZ RUN. jp %| 6 [1000 B |s{bIEE#ME:
14| KA F& RUNRUN Bl 6 [1000 B & tisTEHESE
15|41 F {£3 YYKSC %| 6 |600 B |s{bIEE#ME:
16| ER X TEDA=T7EESST B 6 100 B |&ibiEE#MEE
17/#E RiE FTEBOa=7EESST |[B| 6 |600 B & b¥eE kKR
18| JHE Alth TEO2=7EESST |B| 6 |HJ B |s&ibigEfkER
19| = I F}n FBOaZ=7EESST B 6 |LJ 468%| B |R{bIEEME:
205AI[R #E1E TEO2Z7EESST |&| 6 100 B |&ibiEEiten
21 {Eaﬁaﬁ E24 EBCa=7EEHSST [&]| 6 |600 INBERE T
2| KE UVFEY FTECa=7EEESST |&| 6 |80H 13.13%| A |#icisE#s. B(100m:14.28)
23| hF B FBOa=7ELEHSST |[&| 6 |HJ A |ER1EIETE ST
24 feE FiFE TEO2Z7EESST |&| 5 [100 13.63%] A
25/ B8R B T2 =7ELEHSST |&| 5 [100 13.83%| A |A(HJ:1m23)
26 #iH HBE LTEO2Z7EESST |&| 5 [100 14.06%| A |A(HJ:1m20)
27\ EiE EHAC Bl 6 (1000 A sRibiIEEMRE
28 HH BZE Kmo57 Bl 6 |100 A sB{bIEEMEE
20| HTEP FuE NPl %| 6 |80H A |ER1EIETEME ST
308 W|E KEFvX B| 6 |100 13.25%| B |R{bIEEHREE
31 FE L g AERHEE B| 6 |100 13.21x%| B |s&{bisEfkE:
32| Al KHEE AERFEE | 6 |HJ A |BRIbIEEMRG
33 HF K= REamELHE | 6 [1000 B |#&itisEe
34|FkM W BEER Bl 6 [100 B |s&{biEEMEEE
35 F%FE BfA BEER B 6 [600 A |BibiEE#E
36 | IR f&48 BEER Bl 6 (1000 A Rt IETE#MEE
379N FEKBE] 15 EBE B 6 [1000 B [R&ibiEE#E:
38| K#E SENKER LoZldepELEHST B| 6 |1000 3.0543%| A |[BILIEEREG
39| =M —HE LollEEpELEYSD B| 6 |1000 A [&ibiEE e
40/M g IRAE LollEéEELEHST B| 6 (1000 A |FRIEIETE ML
41| RARE 155 LollEEpELEISD B| 6 |1000 A [&ibiEEi#EE
42 BRI X LoZldepELEHSST B| 6 |1000 3.13.46%| B |BILIEEHRG
43| fHHA IR LolIEEELEHIST B| 6 |1000 B |s&itisEE:
44| /Ihh =X LoZldepELEHST B| 6 |80H 13.39% B |s&1biEEHER
45 &F 1L HA LollEEELESST %] 6 [100 13.11x] A |5R{EIEEMRE
46| [ B LbclEeEESST | 6 |100 14.25%| B |s@bigEfEER(HY)
47 BB HBE LollEEELESST % | 6 |1000 3.13.89%| A
48| BT R LolIEEELESST %| 6 [1000 B |s&1biEE#SE
49|58 BE wo>7 %| 6 (1000 INEERE 3
50 dbfE >XpE Emoa=—F7EEHSST B 6 1000 A |EE1EIETEMEGT
51 % H 1@l Eoa=—7ELHSST |B| 6 1000 3.13.71%| B [s&{bisEitEE
52 =ik B Emoa=7ELSST |[&| 6 [100 A |iR{bIEE M
53 M A BEmoa=7EESST |&| 6 [600 B |sibissEss. B(1000m:3.17.22)
54/ NA 124 EMoa=7ELESST |&| 6 |HJ B |s&1biEE#SE
55 ¥k A EmMPa=—7EESST |[&| 6 |HJ B [s&ltisE#Es
56| {FiE & TH¥YXAC #Z| 6 [100 13.69%| A [SRIbIETE#EEE
57/ B [5E ThE¥vXAC %] 6 |100 14.25%| B |5&{bIEE ML




58[=1E FLIE AR E 1 2] 6 [1000 B |s&{bi5E Rt
59| 1R & AR ESR %Z| 6 [100 B |5&1bisE#SE
60/ x EE TR EZER %| 6 (1000 3.19.92%] B |s&{biETHELE
613/ —FK DA | FhEHRER | 6 [100 A |[BRIEIEE L
62|f8;R HNE EHEROL=T B| 6 |100 B [sR{bisEHEsE
RIE= ERERY LT B 6 |HJ B |&1bigE#E
64| 1Lz FEmi EHERL=T | 6 |LJ B |&itisciti:
65|/NE KRER NoE—= B| 5 |100 14.22%x] B

66 A fEx NE—= %| 5 [1000 3.16.19%] A

67 X K NVE—= | 5 [1000 3.29.38%| B

68 FNIL EfE NE——EEHST %] 6 |100 1411x] B [BRI{LIEEHELE
69|/hiE EAk NVE—=EEHST %| 6 [1000 3.1210%| A |s&ibiETEiEsE
700LA BEMEEE | 6 [LJ B [s&ibiEE#EE
1 #H G T7AR)#% B| 6 |1000 3.01.79%| A [BRIbiETHEE:
72|08 EX T7AMI# 8| 6 |1000 3.00.87%| A [BILIETE#REG
713 &FB X T7ARI# Bl 6 |600 B |a&fcisEfesE. B(1000m:3.14.52)
141F8 S 74 MI# Bl 6 [1000 3.07.70%| A |SRICIETHEEE
75|BH4R &3t T7AR)#% B| 5 |1000 3.19.46%| A

76|@H X T7ARI#% Bl 5 [1000 3.2476%| B

77 kB FE 2RELE 5| 6 [1000 A [BRIbIET#HE
78|18 LA BRkELE | 6 [1000 A [ E#%. B100m: 14.16)
9 EERE HE tBEEL %| 6 [1000 A |[BB{tIETEHEE
80| HRE HEEAC | 6 [100 14.43%| B

81 AL #bE HESEAC | 6 |100 B |B&{biEEREE
82 Ht HIE =PI Bl 6 |100 A |s&1bIEE ST
83| Aix ERE =957 B 6 [100 B [R&ibiEE#EE
84 KR & HEDSJr 8| 5 |1000 3.2378% B

85| 2H JHX HFDSIr B| 5 (1000 3.25.78%| B

86| R [BM EHAC Bl 5 [1000 3.23.06% B

87|/ ik & FEBEIZD 5| 6 1000 3.07.01%| A |R&ibisEiis
88|/hFE BEAT AERHEE/ND B| 5 |1000 32471x%] B

89|vFro+ HrFFi~|FEIURC %] 5 [100 1440%| B

90 85K M= EZ#MSCRC Bl 5 [1000 3.2460%| B

9| KA =N BEER 5| 6 [1000 3.07.94%x| A |s&{bIsTEHEST
2\EF HHE TR EZER Bl 5 100 14.02%| B

93| E¥ KA FEBCa=7EESST [&| 5 [1000 3.26.15%| B

94 R FH TED2Z7EESST |&| 5 |HJ 1.15%| B

95/ MK M= WY Bl 6 [1000 3.00.68%| A

96| K& Z5 By %| 6 [1000 3.17.45%] B

97|= R/ #HE WEy %| 5 [1000 3.18.77%] A

98 Bl M FEETRER %| 5 [100 14.69%| B |B(LJ:3m88)
99|48 IS HEETHIER Z| 5 [100 1471%] B

INETGIEZE T ER | 5 |FEEHk 398+ B

101 K@ KE JIBRC Bl 6 [1000 3.06.91%] A

102 4E#Y & JIIBRC B 5 [1000 3.14.16%| A

103|/h 8 KZE JIBRC Bl 5 [1000 3.17.90%] A

104 AJT B3 JIEBRC B| 5 |1000 32347% B

105/t & & EmPaz=7ELEY B| 6 |1000 258.19%| A

106 KFE EEAT BEmNMoa=—FRELESY B| 6 |80H 12.98%] A

1071 F FK EmPa=F7ELY %] 5 [100 14.16%| A |A(80H:13.67)
108 |1 8F #hK B a=—FELY %| 5 [1000 3.2350%| A

109/ Bk EE EmPa=F7ELY Z| 5 [1000 3.20.13%] B

110/ &35 #h ESZN Bl 6 (1000 3.06.92%] A [BRIbIETHE
1M115H & BEHLREEE B| 5 (1000 3.2286*% B

1123k A AR fEEELE B 5 [1000 3.23.63x| B

113/hMaK £E tBEpEELE %| 5 [1000 3.30.70%| B

14| %8 FRZ= EHERCL=T %] 5 [1000 32726%] B




